Triangle Proportionality Theorem

In the figure below, I\TTl IITJ. Is aALUV similar to aMTU? Yes, it is. A short proof can support this

observation. %
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Triangle Proportionality Theorem:

If a line parallel to one side of a triangle passes through the other two sides, then it divides the other two sides
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Conversely, if a line cuts two sides of a triangle proportionally, then it is ._,ﬂ a/LaJ ‘ (/e, to the
| third side.

Guided Practice and Classwork:

Find the value of ‘X’ in each picture.

‘ Ex 1: Ex. 2: Ex. 3:

X 12
12 12 20 5
18 27
9 X - 0
'LA‘Z 21 e R xf}w_ 22{&"5 22fer \35
(3% 39

20 vt B4x” 39 23+x 35
Yy +\2x = 252 3Ax= 2|+ 12X 700 = (7S +2Sx

12Zx= \0% 271% = 216 ’Z_é;.'-"z_._é:x

X=9 7 C S 22z




Show that the given lines are parallel (The Converse of this theorem)
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Skills Practice:
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Use the Triangle Proportionality Theorem to find the missing value.
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4 Solve for x. 28 5. Solve for x.
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6.1s P_Q parallel to BC? Explain. 7.1s AE parallel to BD? Explain.
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Angle Chaser: Find the measure of each lettered angle in the diagram below.




